
Chapter 12 Homework
2,6,7,13,17,22,23,31,35,36,43,53,55,58,70,75,79



· [02]

= - 10 LOS = - -t

-[O2]

E -

-20sT
= E -7Lt

they for
decomp.



=- -[BrOz]
= - JOCS -LolBr] = ELOI -

47 ut

-[Bru]
=> -Br ot

As rate of disappearance of
Brita

=> - - (3 .5x10-"mol"n'l = toCB is 3. 5 x 10-"mol his" , the rate of

Brilaa) appearance is 2.1 x 10-"mol I's

- LBr=]
E

u7
=- (3 .

5x10"mol ("s')
-1

LBr]
+ -

- (Bvz]
4t

15 ance appearance
=

↳ (Br]
= 2 .

1 x10 "mol 1"5
4t



Increase molarity : temp will increase

reaction rate while increasing size will

decrease reaction rate.
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Increasing the activation energy decreases the rate of reaction 
because once the activation energy is increased, the reaction will 
need more energy to occur.



Increasing the temperature increased the 
rate of reaction because molecules move 
faster and collide more frequently during 
higher temperatures. When more collisions 
occur, more kinetic energy is created thus 
the likelihood of overcoming the 
activation barrier is higher.
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